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Lesson 2-1 -0 lonvertin Using a
Calecvla

-3 -Z —l o / 2 3

This single place on the Aumber
ae hay MANY Oifferent Aames!

=[5 as a Jdecimel

|
) _"‘"" as a  frackowm

T um\L s all abovt chan iy Crow\
decimals 10 frackions M%

Generad  Rules:

~decimaly ate aemm\‘g Mmocre SBA
calevlater & €re \j

-You aced Aumbers m Mo same form % work
~Don¥ roumd onless oW b do so
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Froma MiXed number fo decimed

~ 37
weke — '(51 "é""é as a decimal

Qe kwow neaa.Hae. Stays fhe same

@ SEPARATE ..hole number @ Frochvin
| 37

‘ S i
@ Keep fle whele Aumber Mae samc
@ Theer the Lpaction o8 a ,
Jdivision QPidllem i1 Jisgude:
1 "
21 = 375507 0.74
e~

use caleulatot

[ F-ﬁ,_SM\_\b.\-‘ whole Aumber 8 deamdd back

together
-259 «—b 0.1H

- ~259.7Y4



TTTTCCT TR DE L Le Lt Lty

[

J

¥ERE

--Q-Neu)\) —D More on  That in Lessn

g

Dtn\hs with D.c,Qeq.l-ivb Dednd;

2
wrte "‘5"3’ as a ISecwol

1;{??\:2,::3 L c,ceo.r“\-e and Smush

-5 4—b %= 23 = 0.66666-
\~
vse calevlatee

Wo s a pepeating decimal, which
ot trewn c.s:(’e J ' .

= 5% L - S.Z (don'Y coumd umnless fold Io9

'g\:c.ib::\ 8?{\5«.\'0‘(’:;02‘.’(‘3 M el

S Whele Aumber =2 -~ ~ . —
H-L4S

o™

Badl
| Laconn § =1\ z 0. HSHS4S...

" Yov have b know all abeut Npte\"!'ﬂj Au.'.m(s

Sor T™ grede, but fhey ate NOT (n\w\ﬂ%',

»ps.
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Converting Fromr a decwmel o G-_aﬁd-\‘on_.

(e

vse place Volve

write 0. 15 as a $'cmp\3c3¢'é frachon

3 \‘“AJ &‘V hondcedths place

=S )
OI8 = — ‘oot pow Yo Simpl /
100 Py

_Aa Aweseme svarhing place i3 o try
__dividing TOP 3 RotToma by fhese Aumbers

J2— 35

onkl ¥ no \My.r wot\ks

i L \6 <6 °

~ fhe 2,3,5 approach misses olker Gaclors,
Such a3 .‘i = ¥, 2,3.5 i shil @

3% -7 §



